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A XS0
A NEHY
Chels DN ALY (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Xl < OH 2t 21,319,275 26,235,780 A 4,916,505
= 552,000 552,000 0
Xl 10,498,000 10,498,000 0
< 3,046,789 2,412,000 634,789
Al 7,222,486 12,773,780 25,551,294
Kl SO0 & 1,339,586 8,014,880 AB,675,294
N AHS 624,586 7,299,880 AB,675,294
S AN 2te 596,100 599,880 A 3,780
401 AIEHI L 20 586,220 590,000 A 3,780
01 A€ HI 576,220 580,000 A 3,780
mHEMA @& 2ot =8 249 A 3,780 0 A 3,780
(OFSEeFSel -3,780,000& A 3,780 0 A 3,780
sShsxt SN0 FAxH 800 4,700,000 A 4,699,200
401 A& HIZ 2018 800 4,700,000 A 4,699,200
01 A& HI 0 4,690,000 A 4,690,000
mst=ENsx SEXNDX AL AS 0 4,690,000 A 4,690,000
OEX ¥ =2 24l 2EH0 0 4,690,000 A 4,690,000
03 AIE SR THHI 800 10,000 A 9,200
mE1s & 2FHI)} =28 & &800,000& 800 10,000 A 9,200
$E 2oAE XXM 27,686 2,000,000 21,972,314
401 AIEHI L 2 CHYI 27,686 2,000,000 21,972,314
01 A€ HI 24,686 1,990,000 A 1,965,314
mYE 23IAE BAXZEAY 24,686 1,990,000 A 1,965,314
OEX ¥ =S 24l 2 &24,686,000& 24,686 1,990,000 21,965,314
03 A& =2 THHI 3,000 10,000 A7,000
mzne & ZHEI =3 Z&E3,000,000& 3,000 10,000 A7,000
otd el 5,701,449 3,942,660 1,758,789
= 552,000 552,000 0
X 925,000 925,000 0
< 997,189 362,400 634,789
Al 3,227,260 2,103,260 1,124,000
PNR=IRe ¥l 1,866,189 1,231,400 634,789
= 552,000 552,000 0
< 997,189 362,400 634,789
Al 317,000 317,000 0
9.11. SRIAHN=ER(EX) 634,789 0 634,789
< 634,789 0 634,789
401 AIEHI L 2 CHYI 634,789 0 634,789
S 634,789 0 634,789
01 A& HI 634,789 0 634,789
mA2H AZ5H SRIOo=+ 253,734,000& 253,734 0 253,734
=) 253,734 0 253,734




S XN
Ha: otE e
ol XIgoHa (e9: & 9)
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
WSSO0 Add selol= | 28,788,0008 28,788 0 28,788
= 28,788 0 28,788
WSEH NYH SLRUH=T  313,758,0008 313,758 0 313,758
= 313,758 0 313,758
WASS QH SRWAH=T 1,248,008 1,248 0 1,248
= 1,248 0 1,248
WIS ZH SRUN=T  7,767,0008 7,767 0 7,767
= 7.767 0 7,767
WSEIS SEA SRMH=T 8,627,008 8,627 0 8,627
= 8,627 0 8,627
WOIFS OtE® SLRUAH=T  20,867,0008 20,867 0 20,867
= 20,867 0 20,867
A5HE 3,835,260 2,711,260 1,124,000
Py 925,000 925,000 0
Al 2,910,260 1,786,260 1,124,000
9.11. SRUH=T 1,124,000 0 1,124,000
401 Al HI LS OH bl 1,124,000 0 1,124,000
01 Al&HI 1,124,000 0 1,124,000
WUSH SHLGH SRTH=T
14,000, 0002 14,000 0 14,000
WUSH YALGH SRTH=T
45,000, 0002 45,000 0 45,000
WUSH HELGHH SRTUH=T
21,000, 0002 21,000 0 21,000
WASH YXLGH SRTUH=T
44,000, 0002 44,000 0 44,000
MSE0 NYBAGE 32N
56,000, 0002 56,000 0 56,000
WEEH YBLGH SRUH=T
50,000, 0002 50,000 0 50,000
WESEH XAGE SRUH=T
41,000,0002 41,000 0 41,000
WEEH SEINSH SRIH=T
38,000,0002! 38,000 0 38,000
WEEH SENSH SRUH=T
8,000,000 8,000 0 8,000
WSEH Y=LGHH SRUH=T
12,000, 0002 12,000 0 12,000
WSEH STAGH SRUH=T
39,000,000%! 39,000 0 39,000
WSEH NYRSH SRUH=T
26,000, 0002 26,000 0 26,000
WSEH MOLBLGE STl
19,000, 0002 19,000 0 19,000
WSEH NELGH SRTUHZT
4,000,000 4,000 0 4,000
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WSS Steiold SRUNET

40,000, 0002 40,000 40,000
WES0 YHSEASH SLUH=T

43,000, 0002 43,000 43,000
LR HRAGE SRIHET

14,000, 0002 14,000 14,000
WES0 ELDAGH SLMH=T

12,000, 0002 12,000 12,000
WEE0 AR SRTH=T

29,000, 0002 29,000 29,000
WEEe SEAGE SRIHET

54,000, 0002 54,000 54,000
WAHRS SAMLGE SRTH=T

24,000, 0002 24,000 24,000
WAHKS S2AGE SRTH=T

19,000, 000% 19,000 19,000
WAHRS SYAGE SRTH=T

4,000,0002 4,000 4,000
WARS MEAGHE SRTH=T

38,000, 0002 38,000 38,000
WSS 2RSAGE SRMH=T

24,000, 0002 24,000 24,000
WESM ZHAGE SRMH=T

9,000,0002 9,000 9,000
WESM =18 S2WHST 6,000,008 6,000 6,000
MESO MYASE SRMH=T

96,000, 0002 96,000 96,000
WESS 2BL0HE ST

36,000,000%! 36,000 36,000
WASS HABAGHE ST oH=

9,000,0009! 9,000 9,000
WASH SSA5tH SRUH=T

10,000, 0002 10,000 10,000
WOEM YEAGH SRMAH=T

10,000, 0002 10,000 10,000
WOEM ZEAGE SRMH=T

12,000, 0002 12,000 12,000
WEES FHBAGE SRMH=T

16,000, 0002 16,000 16,000
WIS SASBLGE RIS

10,000, 0002 10,000 10,000
WASS 4EAGE SRIH=T

31,000,000%! 31,000 31,000
WASS CelB45HE 320H=T

24,000,000% 24,000 24,000
WASS =2DAGE 3RIH=T

21,000,0002 21,000 21,000
WAYS 2SAGHE SRMH=T

6,000,0009! 6,000 6,000




A XS0
M otzel
Chelr AGHA (&)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
maAs HAGHAE SRS+
70,000,000& 70,000 70,000
WAYE 2AAGH SLUH=T
40,000 40,000

40,000,000&




